


���������..
1.  ก����	
���   
���  A × B = ∅ A = ∅ B = ∅

2. ���������  ���	�������  ก����	
���  A = B  A × B ≠ B × A A × B = B × A


���   
���  A = ∅ B = ∅

3.  !�  A  �"#  B  	�$%	&�'(�ก���"!�  n(A × B) = n(A) × n(B)

4. �"#  �"!�  B  =  CA × B = A × C A ≠ ∅

5.  =  A × (B ∪ C) (A × B) ∪ (A × C)

6.   =  A × (B ∩ C) (A × B) ∩ (A × C)

7.   =  A × (B − C) (A × B) − (A × C)

8.   =  (A × B) ∩ (C × D) (A ∩ C) × (B ∩ D)

9. Domain  6�7  �"#  Range  6�7  A × B = A A × B = B

����������	
 (RELATION)

	
��
    r  	�$%<��
=�
��%>?'�ก  A  ��  B  ก����	
���  r  	�$%=��	&�6�7  A × B

���������.. 
1. <��
=�
��%>?'�ก  A  ��  A  	�@�ก���<��
=�
��%>?A%  A
2.  	�$%<��
=�
��%>?'�ก  A ��  B  	=
�∅

3. "xry"  

��<��
���  x  
@<��
=�
��%>?  r  ก��  y  
��� (x, y)  �"#  "xry"∈ r



��<��
���  x  �
�
@<��
=�
��%>?  r  ก��  y  
���  (x, y)  ∈/ r

������������
�� ����������	
 (Domain and Range of Relation)

	
��
 ���
	��� r <�� 	&�6�7=
�HIก���
%!�6�7<J���%��� 	6@�%��%�!�� 
      Dr = {x / (x, y) ∈ r}

     ��	����� r <�� 	&�6�7=
�HIก���
"�76�7<J���%��� 	6@�%��%�!�� 
Rr = {y / (x, y) ∈ r}
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���กก����   ���   ����
�������� �	!�DDDDrrrr RRRRrrrr

1. ��  '���J����	�$% y  =  	��
6�7  xDDDDrrrr

ก�K@�@�  1 �!�7y = ∆ ∆ ≠ 0

ก�K@�@�  2 �!�7y = ≥ 0

ก�K@�@�  3 �!�7    y = log > 0

��  '���J����	�$%  x  =  	��
6�7  yRRRRrrrr

ก�K@�@�  1 �!�7x = ∆ ∆ ≠ 0

ก�K@�@�  2 �!�7    x = ≥ 0

ก�K@�@�  3 �!�7    x = log > 0

*  !�
@
�กก��� 1 ก�K@  A
!%(�	��
�  ก�%∩

2. ���"ก#
���� !�&!��
��	�$%    �!�7  6��
��  ( )2, ≥ 0

��� !�  ��7&!��
��
@<����J�A%H��7���%  �!�76��
��
@<����J�A%H��7	�@��ก�%( )2,

3. �'��?�J����    A
!�I'��K�<�� min, max 6�7  y  '#��!	�%'?6�7 ry =

4. ก�K@
�    !����J����   �"#
��%A'���  Dr ay2 + by + c = 0 a ≠ 0

'#��!  �"#
�    ��

"�กก��6!�  1y = −b± b2−4ac

2a
Dr

ก�K@
�    !����J����  �"#
��%A'���   Rr ax2 + bx + c = 0 a ≠ 0

'#��!    �"#
�    ��

"�กก��6!�  1x = −b± b2−4ac

2a
Rr

���กก����  ���   �������กก��$DDDDrrrr RRRRrrrr

 ��	
%  = 6��	6�6�7ก��M��
�ก%  x  (A
!�J	7�A%�ก%  x)
	�%'?  =  6��	6�6�7ก��M��
�ก%  y  (A
!�J	7�A%�ก%  y)
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���ก����	
����ก����  1 - 1

�����
���ก
���  ��� �����	�
	��
��������	�����  x  ������	���������������	�
	��
ก	�  y

����� 
!�"�#��$��ก�
�#$�	����#�  %���  "'"�  ��� (x, y) ∈ r (x, z) ∈ r

��"�  y  =  z"
���ก
��� 1 - 1  ���  *+$ก
,	���������	�����   �!����  x  �����ก���$ก	��������

�������	�
	��
ก	�  y  �	����#�ก	������ 
  %���  "'"�  ���  (x1, y) ∈ f

 ��"�  x1 = x2"(x2, y) ∈ f

ก���������ก
���������ก
���  1 - 1
��������������� ���!��"#$�%ก�%������ก

�/�0�$�1��2��	������  x  /23�ก	�   �!���45�*+$ก
,	�����/�0�$�1��2��	�������45�*+$ก
,	�
(x  !��/23�ก	�)  ���  y  /23�ก	� �!���45�*+$ก
,	�  1 - 1

��������&�����'��(
�����)$��*�"�$&*+
�,9�*+$ก
,	�  . . .  ���  x  1  ����"�$�ก��  y  1  �������
�,9�*+$ก
,	�  1 - 1  . . .  ���  y  1  ����"�$�ก��  x  1  �������
***  ก����,9�*+$ก
,	�  1 - 1  �%"�,9�*+$ก
,	�ก����<ก��	3$

�������ก������,!�-�.ก���
�,9�*+$ก
,	�  ��ก��"���������$�	�=���ก��*�����	�
	��
  '"��	�  1   <�  
�����45�*+$ก
,	�
�,9�*+$ก
,	� 1 - 1  ��ก��"����������	�=���ก��*0�$*+$ก
,	�  '"��	�  1   <�  
�����45�*+$ก
,	�  1 - 1
*** ก����,9�*+$ก
,	�  1 - 1  �%"�,9�*+$ก
,	�ก����<ก��	3$
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�ก���������ก����

�����  f  �+0����ก
���%�ก  A  *+  B  (function from A into B)  ก9��������  f  �45�*+$ก
,	������
��������  A  �������� 
�45��	��/�0�$  B
f  �+0����ก
���%�ก  A  *+"�$&34�  B  (function from A onto B)  ก9��������  f  �45�
*+$ก
,	��������������  A  �������� 
���  B

������������������������

�����  �������
�0�$�����	�
	��
  r  ���  �����	�
	��
/I�$�ก�� �กก����	����0�$
���,�ก�	�%�"�ก	����,�ก�	�%�	$��������1��2��	�����45����,�ก0�$  r  �0�#�
����"�#  r−1

∴ �	$�	3�  r−1 = {(y, x) / (x, y) ∈ r}

�.��&���...
1. ���  Dr = Rr−1 Rr = Dr−1

2. ก��*0�$   �������ก	�ก��*0�$  r  ��#��  y  =  x  �45��ก�������r−1

(0,a)

(a, 0)

r

r-1

Reflected
graph

y

x

y = x
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���������������ก����

�0�#�����"�#  ��#���  f−1 f−1 = {(y, x) / (x, y) ∈ f}

�.��&���...
'"�  f  �45�*+$ก
,	�%�I�$���%�I�$  ��"�   ��45�*+$ก
,	�  (����45�%�I�$���%�I�$�"�#��)f−1

���  '"�  f  �45�*+$ก
,	����!���,�*+$ก
,	�%�I�$���%�I�$��"�   �!���45�*+$ก
,	�f−1

���กก��������&��
�
1. �%"�4���#�  y  �45�  x  ����4���#�  x  �45�  y
2.  	���ก���%"�#1����14  y  =  ����0�$  x
3. '"����$����!0����"�#  �%" 	��#1����140�$  x  �,��

U�Ux ≥ 0 , − 2 < x < 4 , x ≠ 0 ,

ก����!  f (�)  ��.&�.��ก����  ��)�ก����!  ��.&�.��ก����  f(�)ffff−−−−1111(∆∆∆∆) ffff−−−−1111(∆∆∆∆)

���กก��    f (�) =     %���    =  �∆ f−1(∆)

        � =      =  f (�)f−1(∆) ∆

���  f  �"�$�45�*+$ก
,	�%�I�$���%�I�$  �� V�

Composite Function

�.��&���...
1. gof(x) = g(f(x)) , fog(x) = f(g(x))

2. (�) =  �    ����� � %���  � fof−1 ∈ Df−1 ∈ Rf

   �����  f−1of(∆) = ∆ ∆ ∈ Df

3. (fog)oh = fo(goh)

4. '"�  f, g  �45�*+$ก
,	�  1 - 1  ���!4�	��'I$��"�
(gof)−1 = f−1og−1 , (fog)−1 = g−1of−1
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�)����*������ก����

�%"  f  ���  g  �45�*+$ก
,	����������������� 
�45��	��/�0�$  R
1.   =  (f + g)(x) f(x) + g(x)

2.   =  (f − g)(x) f(x) − g(x)

3.   =  (f ⋅ g)(x) f(x) ⋅ g(x)

4.   =  


f
g


 (x) f(x)

g(x) , g(x) ≠ 0

�.��&���...
Df + g

Df − g

Df ⋅ g









= Df ∩ Dg

* ���  D f
g

= {x/x ∈ Df ∩ Dg g(x) ≠ 0}
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�������� 
 ���
������������ 
 ���
������������ 
 ���
������������ 
 ���
����
PAT 1, QUOTA, ENTRANCE, ETC

REVIEW AND ANALYZE

Compiled and tutored  by P'AEY  We By The Brain

1. ก�����	�
  r = (x, y) ∈ I × I y = 2x2 − 8

x2 + 1

�
���  I  ������������������

�������
���ก������  ����ก� �
�	����!"�#$Dr − Rr

1. 2 2. 4 3. 5 4. 7

2. ก�����  R  ����������������+��
	�
  r = {(x, y) ∈ R × R x y + y − x − 1 = 0}

,���+-��
�.��
���!"�#$
ก. r  �"0�.��
��
,��12�#�
#3��
�  Dr = {x ∈ R x ≠ − 1}

�. .��
��
,��12   �"0�45�ก2���r−1

�
�	����!"�#$��ก����

1. ก.  67ก  �89  �.  67ก 2. ก.  67ก  ���  �.  :��
3. ก.  :��  ���  �.  67ก 4. ก.  :��  �89  �.  :��
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3. ก�����	�
  �89  r = {(x, y) x ∈ [−1, 1] y = x2}

,���+-��
�.��
���!"�#$
ก.  �89  r−1 = {(x, y) x ∈ [0, 1] y = ± x }

�. ก+�4���  r  �89ก+�4���  ���ก��  2  �;�r−1

�
�	����!"�#$��ก 

1. ก. 67ก �89 �. 67ก 2. ก. 67ก �89 �. :��
3. ก. :�� �89 �. 67ก 4. ก. :�� �89 �. :��

4. 	�
  f(x) =













x ; 0 ≤ x < 1

2x − 1 ; 1 ≤ x < 2

x2 + 1 ; 2 ≤ x < 3

sin
(x − 3)π

2
+ 10 ; 3 ≤ x < 4

����  f−1(8) + f−1 


21

2



1. 2. 3. 19 4. 237 + 10

3
8 + 7

9



5. ก�����	�
  f(x) =





4x − 4 , 0 ≤ x ≤ 1

16 − (x − 5)2, 1 < x < 5

.�����  ����ก� �
�	� f(f−1(7) + f−1(−2))

1. 2. 5 3. 7 4.15

4

31

4

5. 39

4

6. ก�����	�
  �89  .�����  f(x) = 3x − 1 g−1(x) =





x2 , x ≥ 0

−x2 , x < 0
f−1(g(2) + g(−8))

����ก� �
�	����!"�#$ 
1. 2. 3. 4.1 − 2

3

1 + 2

3

1 − 2

−3

1 + 2

−3

10



7. ก�����  ����+� �������+��  x  �#�  f


x

x − 1

 = 1

x x ≠ 0, 1

�89    ����  g(4x3 + 14x) = 2x + 1 f(2) + g−1(3)

8. 	�
  R  ����������������+��
	�
  �89f = {(x, y) ∈ R × R y = 3x − 5}

g = {(x, y) ∈ R × R y = 2x + 1}

6
�  �89  a ∈ R (g−1o f−1)(a) = 4

�8
�  ����ก� ����	� (f o g)(2a)

11



9. 	�
  f  �89  g  �"0�45�ก2��� �B��
#3��
��89�+��2�"0��� �������������������+��3�C�#�
3�C�#�  f(x) = x + 3

x + 6
(f−1o g)(x) = −6x

x − 1

6
�  g(a)  =  2  �8
�  a  �C7�	�����	����!"�#$ 
1. 2. [1, 3) 3. [3, 5) 4. [5, 7)[−1, 1)

10. ก�����	�
  �89  ����.�����  f(16) g−1(x) = 3

1 + x
gof(x + 1) = −x

x + 1

12



11. ก�����	�
  R  ����������������+��  �89	�
  I  ������������������

	�
  f  �89  g  �"0�45�ก2�����ก  R  !"C��  R  3�C�#�

  ����+� �;ก�������+��  xf(x + 5) = x3 − x2 + 2x

�89    ����+� �;ก�������+��  xg−1(2x − 1) = x + 4

,���+-��
�.��
���!"�#$
(ก) (�)  �"0��������(f − g)(0) < − 169 {x ∈ I (gof)(x) + 5 = 0}

�
�	����!"�#$��ก����

1. (ก)  67ก  �89  (�)  67ก 2. (ก)  67ก  ���  (�)  :��
3. (ก)  :��  ���  (�)  67ก 4. (ก)  :��  �89  (�)  :��

12. ก�����	�
  �89  f(x) = 2x + 1

x + 5
g(x) = 5x − 1

−x + 2

����  fog(3) + gof(4) + fog(5) + ... + gof(100)

1. 5046 2. 5047 3. 5048 4. 5049

13



13. 6
�  f  �89  g  �"0�45�ก2���  �B��  �89  �8
�  g(x)f(x) = x3 + x (gof−1)(x) = x2

����ก� �
�	����!"�#$ 
1. 2. 3. 4.x6 + 2x4 + x2 x6 + x2 x5 + 2x3 + x x5 + x3

14. ก�����	�
  f = {(x, y) y = log (x + 1) + log (x + 2) − log(4 − x2)}

�89 �89  g = {(x, y) y = 2x − 1 x ≥ 0}

6
�  3��
����  f  �89  �+��2���  gDf = Rg =

�8
�  �"0��� ���������	��
�	����!"�#$Df ∩ Rg

1. [0, 1.5) 2. [0.5, 2.5) 3. [1, 3) 4. [1.5, 4)

14



15. 	�
  f  �"0�45�ก2���  �B��  3�C�#�  �89  f−1 = g o h g(x) = x − 2 h(x) = 3 − x

x + 1

�+��2���  f  �"0��� �������
�	�
1. 2. 3. 4.(−∞, −3) (−3, −2) (−2, −1) (−1, 2)

5. (2, ∞)

16. ก. y  =  x + 4 �. ..y = x2 − 16

x − 4
(x − 4)y = x2 − 16

��ก�
ก�+�#�ก�����	�
  �
�	�	�
8�กM-9ก+�4��
���ก��
1. ก  �89  � 2. ก  �89  . 3. �  �89  . 4. ก  �  �89  .

15



17. Given that and h(x) is af(x) = (x5 − 1)(x3 + 1) , g(x) = (x2 − 1)(x2 − x + 1)

polynomial such that , what is the value of h (1) ?f(x) = g(x)h(x)

a. 0 b. 2 c. 3 d. 5 e. undefined

18. ก�����  �8
�  
#.������	�f(x2 − 3x + 4) = x2 − 3x + 8 f(x3 − 5)

16



19. ก�����	�
  R  ����������������+��
ก�����  ����+� �;ก�������+��  xg(x) = x2 + x + 3

6
�  �"0�45�ก2���  �89���.8
��ก� f : R → R

(fog)(x) + 2(fog)(1 − x) = 6x2 − 10x + 17

2(fog)(x) + (fog)(1 − x) = 6x2 − 2x + 13

.�����  ����ก� ����	�f(383)

20. ก�����  f  �"0�45�ก2���  �B��  ����.�����  f(2 − 3x) = 4 − x
12

i = 1
Σ f(i)

17



21. ก�����	�
   �
���  �89  f


x

x − 1

 = 1

x x ≠ 0 x ≠ 1

6
�  �8
�  ����ก� �
�	����!"�#$0 < θ < π
2

f(sec2θ)

1. 2.sin2θ cos2θ

3. 4.tan2θ cot2θ

22. Given that P(x) is a polynomial such that what is P(x2 + 1) = x4 + 5x2 + 3 , P(x2 − 1) ?

a. b. c. d.x4 + x2 − 3 x4 + 5x2 − 1 x2(x + 1)(x − 1) x4 + x2 + 1

e. x4 − x2 − 1

18



23. ก�����	�
  f  �"0�45�ก2���  f(3x − 5) = 18x2 − 57x + 48

�9!�
  
#.������	�(fof)(−1) − f2(1)

1. 3 2. 5 3. 4.−2 −1

24. Let f(x) be a function such that for all x not equal to 0 or 1.f(x) + f


1

1 − x

 = x

What is the value of f(2) ?
a. b. c. d.1

4

3

4

5

4

7

4

e. 9

4

19



25. ก�����	�
  R  ����������������+��  6
�  �"0�45�ก2���  3�C�#�f : R → R

�
���  a, b  �"0��������+��  6
�  f  �"0�45�ก2���8�  �89f(x) = ax + b

�8
�.�����  a + b  ����ก� �
�	����!"�#$  f(f(f(f(x)))) = 16x + 45

1. 2. 3. 11 4. 5−11 −5

26. ก�����	�
  a, b  �"0����������
 �ก  �89  f(x) = ax + b , g(x) = bx + a

6
�    ����.�����  a  �89  b  (
#  (15, 14)  �"0�.���� �
�C)f(g(50)) − g(f(50)) = 28

1. (3, 4) 2. (7, 4) 3. (6, 2) 4. (4, 1)

20



27. ก�����	�
  r = (x, y) ∈ R × R 25x4 + 16y2 + 2 = 10x2 + 8y

�
���  R  ����������������+��
,���+-��
�.��
���!"�#$

(ก) r  !
��"0�45�ก2���
(�) Dr ≠ Rr

�
�	����!"�#$��ก���� 
1. (ก) 67ก  �89  (�) 67ก 2. (ก) 67ก  ���  (�) :��
3. (ก) :��  ���  (�) 67ก 4. (ก) :��  �89  (�) :��

28. ก�����	�
  R  ����������������+��
6
�  �"0�45�ก2���3�C�#�  �
���  f : R → R xf(x) + f(1 − x) = 2x − x2 x ∈ R

�8
� .�����  ����ก� ����	�  54

x = 25
Σ (x + f(x))

21



29. ���  �	
  ��
����ก���������������N = {1, 2, 3, ...} f : N → N

���� ���!ก  f(x + y) = f(x) + f(y) + 4xy x, y ∈ N

"�� �	�#  f(20) ��(�ก����(��) f(1) = 4

30. ก����)���  �	
  r1 = {(x, y) x ≥ y } r2 = {(x, y) y = x2 − 2}

"��  �	�#+�,�)�(,-���.��ก����r = r1 ∩ r2

1.  �	
  Dr = [−2, 2] Rr = [−2, 2]

2. �	
Dr = [−2, 2] Rr = [−1, 2]

3. �	
  Dr = [−2, 2] Rr = [−2, ∞)

4.  �	
  Dr = [−2, −1] ∪ [1, 2] Rr = [−2, 2]

5. �	
 Dr = [−2, −1] ∪ [1, 2] Rr = [−1, 2]

22



31. ก�����  x, y  �"0��������+��  �89  A = {(x, y) y = cos x}

B = {(x, y) y = esin x}

C = {(y, x) x = y2 + 2}

����  [(�+��2���  A) (�+��2���  B)] (�+��2���  C)∪ ∩

32. 6
�  �89  ����.�����  g(x) = 1

3
x − 3 (goh)(x) = 2x − 1 (hog)(30)

23



33. ����+� ��������   n  	�h  ก�����	�
  f(n)  .��  �iM��8���#��ก����กก�+��+  n2

�
�C  4  �89    ����.�����  g(n) = n + 2
n = 1

2011
Σ (gof)(n)

34. 	�
  �89  6
�3��
����  f(x) = 1
x , g(x) = x h(x) = x3 + 2x2 + 2x fogoh

����ก�   �
���  ����������������+�� �ก  �89  ����������
���กR+ − A R+ n(A)

������  A  �
�	����!"�#$��ก

1. 2.n(A) = 0 n(A) = 1

3. 4.n(A) = 2 n(A) > 2
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35. ก�����	�
  �89  �
���  n  =  1, 2, 3, ...G0(x) = (1 − x)−1 Gn(x) = G0(Gn − 1(x))

��.����-��.��  G2553(2553)

1. 2. 2552/2553−1/2552

3. 2553 4. 1/2552
5. −2552/2553
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